1"CCTV Lens / i 1"t B WCCTV S L

VS-H1 Series HIES
1" BAGEXNMAICCTViESL

o % 400-900H&=, 1" 5
LATFAYCCDRICCTVERSL,

o BIFERIEEMO6MmM
Z100mmATgEESLLARLIERE,

o BRE, WRESERCMOSHEL.
RKE. SERk.

59 17.526, 59 17. 526,
4 4
1.6

2 2

CH>. =

o 1
[y B ={ I I = | __| : S I
3 £ e N 3 =2

C-mount

VS-0618H1 ZFERSG

57.2 17. 526,

53.5 4

$64.5
$63.5
L
|
[
$22.8

i 20 €0 50

C-mount

2-M2 Lock screw

48 17. 526,

$37.5
M35.5 P=0.5
\
I
|
|
1782 2 vl
HpIZI-S1 | Vil g
i1z o u
1
[l
$23
38

2-M2 Lock screw - 2-M2 Lock scre 2-M2 Lock screw C-mount
VS-2514H1 VS-351
45 17,526 33.5 17.526 35.0 17. 526,
. 4 4
2.5 1.5
- . ;
i i I -
o i w ™ o) ™ =3
@l w ) d _ | o - 3 o 59 Y | Q 8
g 3 g = — g ¥ 3 g i 3 2
5 o
iz -
2-M2 Lock screw 2:M2 Lock sorew 2-M2 Lock screw G-mount
VS-5018H1 SV-7525H SV-10028H
44.5 417- 526 49.5 17.526 66.5 17.526_
1.2 2-M1.7 Lock screw 4 2-M1.7 Lock screw |4
. i | 4
S E g 7 3 F
d g 5 I g _
g o || I B <1+ gl 3 N R 3 2 [ I N Y _
S p=a S | Y =| : ~ S 2 - 5
2-M2 Lock screw C-mount C-mount C-mount
boiki:s VS-0618H1 VS-0814H1 VS-0814H1IN VS-1214H1 VS-1614H1N
-] 6 mm 8 mm 8 mm 12 mm 16 mm
FNO F1.8~16 F1.4~16 F1.4~ 16 F1.4~16 F1.4~16
E=:] 87.3° x 87.3° 71.8°x 71.8° 72.7°x72.7° 50.8° x 50.8° 38.6° x 38.6°
ZEIFRWD 100 mm 100 mm 100 mm 300 mm 300 mm
TV&E -0.61 % -0.54 % -0.35% -0.32 % -0.65 %
BIERE Manual(Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
EAE T o o 7 m
wEAR - M55 P=0.75 M55 P=0.75 M355 P=05 M305 P=05
£ 205g 1759 185 g 130 g 120 g
M VS-2514H1 VS-3514H1 VS-5018H1 SV-7525H SV-10028H
FiE 25 mm 35 mm 50 mm 75 mm 100 mm
FNO F1.4~16 F1.4~16 F1.8 ~16 F2.5 ~ Close F2.8 ~ Close
s 25.1°x 25.1° 18.3° x 18.3° 12.8°x 12.8° 8.6°x 8.6° 6.6°x 6.6°
EEWD 300 mm 300 mm 500 mm 1200 mm 2000 mm
TV&HE -0.46 % -0.31 % -0.01 % 0.05 % 0.08 %
BIERE Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M1.7) Manual (Lock screw M1.7)
pea=yyay 1" 1" 1" 1" 1"
BEOE M305 P=0.5 M305 P=05 M405 P=0.5 M34 P=05 M375 P=05
58 84g 92g 1289 849 104 g




1"CCTV Lens VS-H1 Series

I - fERR

VS-1214H1 VS-1614H1N VS-2514H1 VS-3514H1 VS-5018H1
£12 16 135 150
©0~300 0 ~300 0 ~300 00 ~500
300 300 300 500
o 296.3x296.3 212.5x212.5 137.3x137.3 95.4x95.4 111.5x111.5
2/3" 186.8x221.1 134.0x158.5 86.6x102.4 60.2x71.2 70.3x83.2
g% 0.038x 0.053x 0.082x 0.118x 0.101x
wD 277.3 1 134.0 5213 1 187.6 1262.1 | 240.3 25087 | 267.8 4997.4 | 454.6
oy I 274.6x274.6 | 140.8x140.8 363.2x363.2 | 134.0x134.0 563.0x563.0 | 110.4x110.4 804.3x804.3 |  85.3x85.3 1126.0x1126.0 | 101.4x101.4
23" 173.2x2049 | 88.8x105.0 229.0x271.0 | 84.5x100.0 355.0x420.0 |  69.6x82.4 507.1x600.0 |  53.8x63.6 710.0x840.0 |  64.0x75.7
5k 0.041x | 0.080x 0.031x 1 0.084x 0.020x | 0.102x 0.014x i 0.132x 0.010x l 0.111x
WD 128.5 ! 82.9 261.2 1 136.3 642.9 ! 199.5 12553 | 242.3 2501.1 ! 2174
G 135.7x136.7 | 93.1x93.1 184.6x184.6 |  98.8x98.8 288.7x288.7 |  92.3x92.3 402.1x402.1 | 77.1x77.1 563.0x563.0 |  93.1x93.1
2/3" .5x101. | . 7x69.. .4x137. i .3x73. .1x215. | .2x68.! .6x300. | .6x57. .0x420. | . 7x69..
85.5x101.2 |  58.7x69.4 116.4x137.7 |  62.3x73.7 182.1x215.4 |  58.2x68.9 253.6x300.0 |  48.6x57.5 355.0x420.0 |  58.7x69.4
xR 0.083x L 0.121x 0.061x 0.114x 0.039x | 0.122x 0.028x | 0.146x 0.020x T 0.121x
) 80.5 ! 57.7 170.7 ! 105.6 4219 ! 171.4 818.1 ! 2212 16690 | 385.9
T 90.8x90.8 |  69.5x69.5 122.4x122.4 | 77.9x77.7 190.8x190.8 |  79.9x79.9 261.9x2619 |  70.4x70.4 375.3x375.3 |  86.0x86.0
T o 57.3x67.7 |  43.8x51.9 77.2x913 | 49.0x57.9 120.3x142.4 | 50.4x59.6 165.1x195.3 |  44.4x52.5 236.7x280.0 |  54.2x64.1
o= 0124x | 0.162x 0.092x | 0.145x 0.089x | 0.141x 0043x | 0.160x 0030x | 04131x
WD 55.9 , 42.4 126.9 | 86.2 312.9 i 149.0 617.6 i 202.4 1253.0 ! 358.9
g L 67.8x67.8 |  55.2x55.2 92.3x92.3 |  64.3x64.3 142.5x142.5 |  69.9x69.9 197.5x197.5 |  64.3x64.3 2815x2815 |  79.9x79.9
2/3" .8x50. ! .8x41. .2x68. 0 .6x48. .9x106. ! .1x52. .6x147. J .6x48. 177.5x210. ! 50.4x59.
42.8x506 | 34.8x41.2 58.2x68.9 |  40.6x48.0 89.9x106.3 | 44.1x52.2 124.6x147.4 | 40.6x48.0 2100 | 50.4x59.6
f 0.166x | 0.204x 0122x | 0.475x 0079x | 0.161x 0.057x | 0.175x 0.040x | 0.141x
wD i 46.3 1 38.3 120.1 | 82.2 249.1 i 136.9 504.1 1 253.2
s | . 36.9x36.9 | 31.5x315 57.2x57.2 | 40.4x40.4 793x793 | 43.3x433 112.6x112.6 | 56.0x56.0
213" l 233x27.5 |  19.8x235 36.0x426 | 25.4x30.1 50.0x59.2 |  27.3x323 71.0x84.0 |  353x418
R : 0.305x i 0.358x 0.197x | 0.279x 0.142x i 0.260x 0.100x | 0.201x
) i i 55.8 i 445 125.0 | 89.0 254.4 | 1707
N ! ' 28.7x28.7 | 23.7x23.7 39.5x39.5 | 27.9x27.9 56.3x56.3 | 37.4x37.4
2/3" | | 18.1x21.4 | 14.9x17.6 249x295 | 17.6x20.8 355x42.0 |  23.6x27.9
sz i i 0.393x | 0.476x 0.285x i 0.403x 0.200x | 0.301x
wD ' ! ! 84.1 ! 66.3 1712 ! 129.3
o | i } 26.4x26.4 |  20.7x20.7 375x37.5 | 28.1x28.1
23" ; ; 1 16.6x19.7 |  13.0x15.4 237x28.0 | 17.7x20.9
fak : : w 0427x | 0.545x 0300x ' 0.401x
WD i d ! 635 ! 52.9 129.3 ! 104.5
o i i i 19.8x19.8 |  16.4x16.4 28.1x28.1 |  22.5x22.5
2/3" i i i 125x147 | 10.3x12.2 17.7x209 | 14.2x16.8
f ! ! ! 0570x |  0.688x 0401 ' 0501x
wD : : ! 51.2 | 44.2 104.5 | 87.8
T i i i 15.8x15.8 |  13.6x13.6 225x225 | 18.7x18.7
23" ! ! ! 10.0x11.8 | 8.6x10.1 14.2x168 | 11.8x14.0
f= ! ! ! 0712x |  0.830x 0501x | 0.602x
wD i i | 42.9 i 38.0 87.9 l 75.9
o | ! ! ! 132x13.2 1 11.6x11.6 187x187 | 16.0x16.0
213" ! i } 83x9.8 | 7.3x8.6 11.8x14.0 | 10.1x12.0
g ' 0 l 0.855x | 0.973x 0.601x | 0.702x
wD : ! w 37.1 334 76.0 67.1
o LT ' ' ! 113x11.3 | 10.1x10.1 16.1x16.1 | 14.0x14.0
2/3" i 0 | 7.1x8.4 | 6.4x7.5 10.1x12.0 | 8.9x10.5
Ex d d i 0.997x | 1.115x 0.701x | 0.802x
WD g ! ! ! 67.1 ! 60.2
P I 0 0 i ] 141x141 | 12.5x12.5
23" i i 1 i 89x105 | 7.9x9.3
fa% ! : ! ! 0801x | 0.902x
WD | | | | 60.2 i 54.6
o | i : i i 125x125 1 11.2x11.2
P ‘ w 7.9x93 1 7.1x84
= ' ' : : 0901x | 1.002x
wD 0 0 i l 54.7 | 50.1
i i i 1 | M2x11.2 | 10.2x10.2
213" ' ' ! ! 71x84 | 6.4x7.6
% i i 1 | 1.001x ! 1.102x
EFRiHEA (BLmm)
— > MENE (R~ %R )
103 | 130 ——> TIEEEE
5 1" 14x19 1925 ——> 17 CCD#FSERE

213" 184 | 24x32 —* 2/3"'CCDIIFIEE
2 025¢ 020k —> BAIEE

v
BINEE (t)






